2
O
-
O
>
oc
-
("2
=
>
a4]
>
Ll
N
V)
<




Part list - 60" Vanity

Identifying the hardware-ldentify the hardware using the illustrations below

e N N )

A & 14 |B ¥ 22 |C 22

. ©98*30mm Wood Dowel )  { M6*45mm Bolt )L @6*16mm Washer )

4 ) 4 ) 4 R
sy (0> %

D 4*25mm Screw 32 E 38 F 06
\_ ) S 3.5*15mm Screw ) S y
4 ) 4 ) 4 R

G 12| |H 8| |1 e (2
N 4*25mm Screw J L )L 4*50mm Screw y
‘ N\ A

K e O (L2 32 |M S 04
A ) U ©6*20mm Wood Dowel )

e N N
Provrerine

N ® 06 O 4*20 S
L L mm Screw
5/1/2022

2 of 11 60"VANITY




W~

Step 01

Step 02

60"VANITY

3 of 11

5/1/2022




Step 04

60"VANITY

4 of 11

5/1/2022




Step 05

[B ey (2

\} S S \Yn
/Aé V S % el
[~ —= =

Note: Do not tighten bolts firmly at this time

M6*45mm Bolt

[c 02
26*16mm Washer )
[K N 01

Step 06

7 b= 1

\

7 o)
///
0
|
Io|

X
|

\u

5/1/2022

5 of 11

60"VANITY




Step 07 5 2.
[C rae*1asher 06]

G

ANANAN

oEaT

M6*45mm Bolt

(coq

©6*16mm Washer

[K N 01]

NN
NN
TS
N
N
N L~
N g
N -
N

5/1/2022 6 of 11 60"VANITY




T

M6*45mm Bolt

[c oeﬂ
@6*16mm Washer

[K N 01]

Note: Tighten all bolts at this time

Step 10 [P
| °=~ o
L &£ 1

26*20mm Wood Dowe

5/1/2022 7 of 11 60"VANITY




o=
4*25mm Screw
[ o= o

Step 11

s

[ &o== oﬂ

Step 12

60"VANITY

8 of 11

5/1/2022




Step 13 =

A

VY.

)
RQ
&/

///gm

Y

-

. =<
=

A




Step 15




Step 16 (o 02)

. Mark the location of the Studs in the wall on the [ °=

stretcher rail.

. Drill a 1/16" thru hole in the center of the Stretcher Rail
at the location of the studs in the wall.

. Secure the Vanity to the wall using screws (l)

Make sure the screws align with the wall.

L

5/1/2022 11 of 11 60"VANITY




	1.pdf (p.1)
	2.pdf (p.2)
	3.pdf (p.3)
	4.pdf (p.4)
	5.pdf (p.5)
	6.pdf (p.6)
	7.pdf (p.7)
	8.pdf (p.8)
	9.pdf (p.9)
	10.pdf (p.10)
	11.pdf (p.11)

